
PSfrag replacements

PROBLEM:
A linear time-invariant system has impulse response:

h(t) =

{

e−t −1 ≤ t < 9
0 otherwise

(a) Plot h(t − τ) as a functions of τ for t = −10, 0, and 10.

(b) Find the output y(t) when the input is x(t) = δ(t + 10).

(c) Use the convolution integral to determine the output y(t) when the input is

x(t) =

{

1 0 ≤ t < 20
0 otherwise

McClellan, Schafer and Yoder, Signal Processing First, ISBN 0-13-065562-7.
Prentice Hall, Upper Saddle River, NJ 07458. c© 2003 Pearson Education, Inc. SOLUTION



McClellan, Schafer, and Yoder, Signal Processing First, ISBN 0-13-065562-7.
Prentice Hall, Upper Saddle River, NJ 07458. © 2003 Pearson Education, Inc.



McClellan, Schafer, and Yoder, Signal Processing First, ISBN 0-13-065562-7.
Prentice Hall, Upper Saddle River, NJ 07458. © 2003 Pearson Education, Inc.


